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Entrance Examination - 2022
WA U&IT 2022
Sugar Engineering Certificate Course
BRI SIS FHIOT-U UTeashH
Time : 1 Hour Maximum Marks : 40
|HY : 1 90T fRPpaH 3 : 40
S.No. Language Question Option 1 Option 2 Option 3 Option 4
Cumulative
1 English ~ Which DC motor cannot be started on no-loads? Shunt motors  Series motors compound None of these
motors
Hindi &M It SRt HieR famT A & d1e -1el 1 S Tabelt g2 e Aicd g Ae Jaft ied TR A IS AT
. "The direction of induced current in the rotor is so as to Elecromagnetic
2 English L L Faraday's law Lenz's law Ampere's law
oppose the cause producing it", This is given by law

Hindi e AR R A A 9 U © o $9 IorA e ae R R awE R e e THIRR &1 |
BRI BT fR1Y a1 o o | I foras gy fam mar B ' e
3 English A4 pole 50 Hz induction motor is running at 1470 rpm. What 0.2 0.02 0.04 04
is the slop value?
Hindi TP 4 Q1 50 §eof UROT HIex 1470 R.ULTH. WR 9 B! 8 - 0.02 0.04 04
! f&IU dog 3 grfte ' ' ' '
Per unit .
. . L . . Polarities
4 Enalish For parallel operation of the transformers; which statement is impendance kVA ratings Turns ratios <hould be
g not correct? should be should be equal should be equal
same

same
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Hindi

English

Hindi

English

Hindi

English

Hindi

English

ufd gbTg
TAGER & YAMR TaTeH & Y S I HYT Tt 781 82 PIREIEIRSEIE]

gl =1feT

The electrical power output of an alternator will be maximum, 0d
: ) egree
if the power angle is equal to g

TS 3feeeR HT [aggd Wfad IdTe Hebad g, afe wfda o et
DI ..o & TR gl

Resistance between point A and B will be

50
5 319
At present, in India, the renewable energy source which is Wind
in
havingmaximum installed generation capacity is
IA §, YRd § TdHIER0 Surt Wid St siftedw wifoa -
ITe & B,
Increased

efficiency of

Which of the following is not a benefit of cogeneration? energy
conservation

and use

FATIRF  Houa R  ydg wmE
SRR gHI AT BT 1Y g =Ry

45 degree 90 degree 180 degree
45 feui 90 &t 180 f&&ht
8Q 6Q 20
8 3H 6 3MH 2 3
Hydro Solar Biomass
HEE]] IR CIIEIRS]

Reduced Reduced

Reduced power

greenhouse gas  transmission
factor

emissions losses
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Hindi

English

Hindi

English

Hindi

English

Hindi

English

Hindi

English

Hindi

Tolt TREfUr W NN -

Fofied # 9 o1 ¥g-3IdTed &1 a8l 82 R I B HH W RSP . HH YR g1
. Io | HH!
e A gfg
. . . Such
When the induction motor runs faster than the synchronous Synchronous Induction Synchronous condition is
speed, the induction motor runs as generator generator motor .
not possible
S IR0T R e ¥ $ifie ot fd W g 6, 99 I8 EAINED T SRR R B o fRyfa dya
................. B! R PR I § SFIRER d T
) ) Voltage Power Transmissioin
Which statement is not correct about EHV/UHV power o . Conductor )
. regulation is transmission cost . line losses are
transmission? ) . volume is reduced
improved is increased reduced

Jlees EEEIR RS S N— URYUT A
EHV/UHV TfeR SifeH & aR & & 91 By 98! 781 82 Ao d  ara A gfg g gl |

HH gl oIl §
JUR BT 8 g SRt §
Which of the followi thod i d for changi Shunt Any of th
ich of the ? owing m? od is used for changing power ur-w Series capacitor Shunt reactor ny of the
factor from leading to lagging? capacitor above
Ifad HRP B ARN H dgaq & foe Fafared o 9 feg fafy S e e g f SRIF H &
1 ST T S &2 ®1S
Active Reactive
If the input to the prime mover of an alternator is kept component of  Power factor components of  Power factor is
constant but the excitation is changed, then the the outputis remains constant the output are reduced
changed changed

g fpafl Sfeerrier & UIsH TR & 399¢ &I RR 391 IR I P i BRP RR 3T & U FRS

by g yfafeareiia geo
Tfh ISRV ded far 91, o |l . &Y gl oIl
g 9Tl § 8 EENASINES QR
) o . . All of the
Which of the following is used in thermal plants? Otto cycle Rankine cycle Joule cycle above
V

it g o fAufafad § ¥ {6 a% &1 Iua gidr 82 3fiet I IHTe aH SGEED SWRiad qaft
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English
Hindi

English

Hindi

English

Hindi

English

Hindi

English

Hindi

English

According to the IS code, the color of earth wire is usually Red
3TE T, B & IR, 312 aRR BT T IR W gl § ad
Constant
The concept of V/f control of inverters driving induction toraue
motorsresults in a )
operation

TRUT Hicd &l I aTd 37deR & d1/Tth fAI=01 BT S[gyRon
HT RO §

Voltage
Thyristor can be protected from over voltages by using clamping

device
5 7 Y T IUTNT b YBRIWR 1 31U diees I Jrecsl gt

TRfErd fopar &1 T g fSasa

Smoothening

What is the function of IGBT in AC Drives? incoming AC
supply
CIEEISIRS
ot grga o o S S o1 o Bl 82 3Myfc Y
HHAR hRAT
Which of the following circuit breakers has low reliability and A;irrz):l?:t
more maintenance?
breakers
fafifad #§ § fpg afde s @ fayg-iadr 4 § 3R TR <R
RIETG 31w g2 fdhe JH

Protection of

a transformer

A Buchholz relay is used for )
against all

internal faults

Green

el

Speed reversal

Fuse

RxCl

Controls power
delivered to the
motor

ex &1 & Tt
wfed &) FrRifag
AT &

Circuit breaker
with SFg gas

SF, 9 gfdhe
CL

Protection of a
transformer
against all
external faults

Yellow
Li]|

Reduced
magnetic loss

Heat sink

gic Riw

Stablize the
output voltage
from rectifier

AFeHRR A

P RR FAT 8

Vaccum circuit
breakers

degH Fihe s

Protection of a
transformer
against both
internal and
external faults

Black
DIl

Harmonic
elimination

fRRemufsq e foda  sAdeem g smiHe I

Snubber circuit

R gihe

Converts
incoming AC
power to DC
power output
3 areft T
UiaR &1 SRt
UidR 3HT3cYc

¥ geordr &

Oil circuit

breakers

1 Aidbe
EER

Protection of
induction
motors
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Hindi

English

Hindi

English
Hindi
English
Hindi

English
Hindi

English

Hindi

English

Hindi

Sebeled R 1 7T fbges forg fabar e &2

Which among the following happens in a low power factor?

R PRSP FABH T, T A I AT BT 82

Which of the following is not the intensive property...........

STH B A1 0 TR / aiferd ©

1 kg of steam sample contains 0.1 kg of wet steam its
dryness fraction is .............

T fbam g & draet § 0.1 fbaiom 70 9 B, 39T
[ HRT BRI

1 micron is equal to

The young modulus is also known as .........

When a material is loaded within elastic limit, the stress is
proportional to

9 forht uerd ol alieh W & sier YR faar Sirdn 8, 99 a9

3T | gRT

quft sriaRke
FLIES]

TAGIER &
R

Large Kva
rating of the
equipment

JUSIUN B
TS H AT
T

Pressure
cdid
09

0.9

0.01T mm
0.01 .

Stress
ddrd
Force

ERED

. 3fiaier iR e
e e ENPN TRUT Hied &1
TRABTR &Y . W
< e TR ST gRe o
Reduced
Greater . . All of the
) handling capacity
conductor size above
of the system
AP heaex A B HH
; IWRIad Tt
3{hR T &HdAT
Temperature Density Heat
GICGIE] YId SHCHT
0.1 0.8 0
0.1 0.8 0
0.001 mm 0.0001T mm 0.1 mm
0.001 foe. 0.0001 fA . 0.1 fomt.
Modulus of Modulus of
. . None of these
Rigidity Elasticity
OsEy e Alegad 3 SWEd B Y
e Bl DIs Aol
Area Increase in length Strain
&AHA & ¢ g a8 & XAD
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English

Hindi
English

Hindi
English

Hindi

English

Hindi
English
Hindi
English
Hindi
English
Hindi
English

Hindi

The blending moment may be maximum, where ...............
Changes the sign

R AT (B BT &) SHAHAH NI, Tl TR ...
=1 s
A vertical strut used in building or frames is called

T eT TaT ot vanT SARA 9 e H o ST 8 weard
g

Due to centrifugal force acting on the rim, the flywheel arms
will be subjected to ..........

R IR T a1 HE 96 & BRI Igdh] BT d1el § 941 gl ,,,, a4 a1

Stress

Beam

Ei|

Tensile stress

When a helical compression stress spring is subjected to an Tensile st
. . . . o ensile stress
axial compressive load, the stress induced in the wire is

e psferd ara f8iT W sief Yie YR @ al &, @ dR R

GRRGKIE]
NUEEIRIGEIERNI]
When a helical spring is cut into two half pieces then the s

ame
stiffness of the resulting spring will be
e Feferd BT &1 & SRR UFT H HTeT 91l 8, 99 UdH
&1 Bt HARaT gITft gl A |
Kinematic coefficient of viscosity is the ratio of absolute
. . Volume
viscosity and ...
AT BT 7RIS TN SUTd § A T 3R
...................... Cal
Notch is the device which is used to measuring the rate of )
- Velocity

................... A liquid through a small channel.
Afd T IUPRVT ¢ FoRIpT ITANT BIC et § & Bl s
............... &R A9 3 far S 8
Flow in a pipe will be turbulent when Reynold's no. Is greater 2000

UIey § §819 MRMd BN e YIS G ... J e gt @ 2000

Deflection

Compressive
stress

Tdite f&=me

Compressive
stress

Gl d
Double
g
Mass
SOIHT
Viscosity
PUIEGI
1000

1000

Shear Force

R wi

Column

(9]

PIcH

Shear Stress

AR 19

Shear Stress

None of these

T A IS T
Hinge

fe=t

None of these
I 9 PIS T

Bending stress

QTCR d-ld 'i\-I:Ob"I dldl d-ld
One half One fourth
et T AUTS

Mass density

UM T

Flow

deld

4000

4000

None of these
ST Y DI eI

None of these

EEERCIH
55l

2500

2500
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English

Hindi

English

Hindi

English

Hindi

English

Hindi

English

Hindi

English

Hindi

English

Hindi

The coefficient of contraction is the ratio of actual discharge

See 3159 H Yeft &Y oRE B HRal 8
Queing theory is used for .............

T R BT IUINT BIdl §
CPM is the ............

SIR R
The critical activity has ...............

Vibration in any macine start due to ...........

SU N AT P PRI ST B 8

CNC machines used to control motion of work piece and tool
with a program written in alpha numeric data, the program is
directly fed in ................

. 7= A g di &1 FEfd 1fd g ga &t 1fd & uum
D! TehI--JARS Sl BT STANT 1Y g I......

) Theoretical
Mass Volume Density )
discharge
STHT ST g SgETa R
Cylindrical pair ~ Turning pair Rolling pair Sliding pair
EREECIS
JEAHR Sier uRafdd SiieT gHaT gof SireT :
I Traffi h
nventory ra. ic Job's o.p Al of these
problem congestion study schedulling
JaER gedl A -dis SRR gedt
' SRIT Ft
qoaHn S qayn
T t
Time orinted  Event Oriented  Activity oriented or?err?ti:d
technique technique technique .
technique
oY mYRd geT iR [ERIEZIL] &g TR
RERIED RERIED TR dTebileh RE&ICD
Maximum o
Float Minimum Float Zero Float Average Float
oa
fpdH  FEaH yargHH [ ST T 3{IId aTeHH
YdIgHI X5l el Xgm
Looseness Unbalance Misaligment  All of the these
. WU HAGA S IR HY
CIREE SRIde &
BRI it
C t ith Int diat
Punch card omputerwi n erme.e are None of these
keyboard device
: . FYRIDI-AE S B oAl : .
Peack: : . il
| f&arga | FHAPR T



